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a (x+1)(x+3) b (x+2)(x+5) c (y=-1D(y-2 d (x—?;)2

e (y+1)(y-2) f (@a+4@-2 g (x+1)(x-1) h (p+2)(p+7)

i (x+3)(x-5) i (Mm=2)(m-28) k (t+6)(t-23) I (y-5)(y-98)
m (r +4)(r —4) n (y+7)(y-9 o (a+ 11)2 p (x+12)(x-6)
q x-2)(x-13) r (s+8)(s+15) s (p+17N(p-3) t (m-10)(m+9)
a (x+1)(x+1) b Bp+1(p+2 c (Zy-3)(y-1) d 2+m(1-m)
e Br+1)(r-1) f (5+y)(1-4y) g (Ba-1(a-4 h (5x+2)(x-2)

i (2x+1)(2x+ 3) i (Bs-1)7 k (2m+5)(2m-5) | (2+3y)(1-2y)

m (4u+ 1)(u + 4)

a x-1)x-3)=0

x=1lor3

e (Xx+5)(x-5)=0

Xx=-50r5

i X¥+4x—60=0

(x+10)(x-6)=0

x=-10o0r6

m 3¢+ 11x—4=0
(3x-1)(x+4)=0

x=—4or 1
q (x+1)?=0
XxX= -1

2

a =2(y’-5y+6)
=2(y-3)(y-2)

e =(@+1)(@+3)

n

b

f

j

n

b

f

i =2X(3¢ - 13x+ 4) |

=2X(3x — 1)(x— 4)

(Bp+4)(2p-1)

xX+Hx+2)=0
X=-4o0r-2

X —x-42=0
x+6)(x—7)=0
X=-6o0r7

X —5x—14=0
xX+2)x-7)=0
x=-2o0r7

2¢-3x-5=0

(2x=5)(x+1) =0

= 5
x=-1lor 2

3 -13x+12=0
(Bx—=4)(x-3)=0

x=§or3

=X(¢ +Xx—-2)
=X(X—D(x+2)

= (t?+5)(t°-2)

=Yy’ +3y-18)

=Yy +6)(y-23)

o

o

o

«

=~

(8x+3)(x+2) p

x+5(x-1)=0 d
x=-5o0rl
X —3x=0 h
x(x-3)=0
x=0or3

(2x-1)(x-1)=0 |
x=2orl

4C-23x-6=0 p

(4x+1)(x-6)=0
X=-1o0r6

4 +20x+25=5-x t
4¢ +21x+20=0

(4x+5)(x+4)=0
x=—-4or -2

= p(p° - 4) d

=p(p+2)(p-2)

= 4(3 + 5x— 23)
= 4(3-x)(1 + 2x)

=(m+1)(nf-1) |
=(n?+1)(m+1)(m-1)
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(6r—-5)(2r +3)

X¥—7x-8=0
x+1)(x-8)=0
x=-1lor8

xX+9x+3)=0
X=-9o0r-3

X2 —X=6x-12

XX—7x+12=0

x=-3)(x—4)=0
x=3o0r4

6x*—19x+10=0
(3x-2)(2x-5 =0
x=2or2

6x° — 21x = 14x + 6
6x°—35x—6=0
(6x+1)(x-6)=0
X=—-% 0r6

= 3m(n? + 7m+ 6)
=3m(m+ 1)(m+ 6)

=3(2r? - 3r — 14)
=3(2r-=7)(r +2)

=p(p* - 4p° + 4)
= p(p® - 2)°
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a ¥-3x+2=0
x-Dx-2=0
x=1lor2

Ya

0.2

b 4

O (1,0 (2,0

d ¥-2x=0
x(x-2)=0
x=0or2

Y a

0.0

\ 4

g X+5x—4=0
¥ —5x+4=0
x-1(x-4=0
x=1lor4

Ya

/N ,
O|/(1,0) \(40 X

(O! _4)

i 2¢+13x+6=0
(2x+1)(x+6)=0
x=—6or -1

(0, 6)

6,0\ |o

(_% ’ O)

xV

b x¥*+5x+6=0
xX+3)(x+2)=0
X=-30r-2

(0, 6)

<Y

(-3,00 (-2,0)0

e X¥*—10x+25=0
(x-5)>=0
x=5

4

b Y
(o, 25)\ /

o| (0 X

h 2+x-x=0
X¥-x—-2=0
x+)Yx-2)=0
x=-1or2

Ya

(0,2
(-1,0) /\\am;
k 3—8x+4x¥°=0
(2x-1)(2x-3)=0

-1 3
X—EOI’E
Ya
6,3
o[\ /¢.9 «x
(5.0
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c X¥-9=0
x+3)(x-3)=0
x=-3or3
Y 4
(4&* /@Q
o) X
(01 _9)

f 2¢—-14x+20=0

2(x—

2)(x—-5)=0

x=2o0r5

y 4
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\/ (5,0) %
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2¢-3x+1=0
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1)(x-1)=0
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—Eorl
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ol W10 %
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2+7x-4¢=0
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7x—-2=0

(4x+1)(x-2)=0
X=—-%o0r2
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m 5% - 17x+6=0 n —6x+7x-2=0 0 6X¥+x-5=0
(5x—2)(x—3)=0 6x°—7x+2=0 (6x—5)(x+1)=0
x=£or3 (2x=1)(3x-2)=0 x=-lor 2
=Zo0r%
ya ya YA
1.0
©,6) (2.9 . \ / >
o) (2,00 x Lo\o[ /(2,0 x
o[ \_/(30 % (0, -2) (0, -5)
(2,0
a X*-5x+4=0 b x*-10=3x c x(2¢-x-3)=0 d 10&¢-x'=9
(x-1)(x-4)=0 x*-3x-10=0 X(2x-3)(x+1)=0 x*-10¢+9=0
x=1or4 (Xx+2)(x-5)=0 x=-1,00r 2 C-1)(¢-9)=0
x=-20r5 x*=1or9
x=xlorx3

e 5+4x-x=0 f x—6=x(x-4) g (x+5(x+3)=3 h x*-4=3¢

X —4x-5=0 X—6=x—4x X +8x+15=3 X'-3¢-4=0

(x+1)(x-5)=0 X*—Bx+6=0 X +8x+12=0 ¢+ 1)(E-4)=0

x=-1lor5 (x-2)(x-3)=0 (X+6)(x+2)=0 x*=—-1 (nosol’s) or 4
x=20r3 X=-60r-2 X=%x2

i A+ 7E-2=0 ] 2x(x+2)=3-x k x(2x+1)=2(x+3) | 7-3x(x+2)=2(x+2)

AC-1DC+2)=0 2¢+4x=3-x 2C+X=2X+6 7-3¢-6x=2x+4

X¥*=-2(nosol's) or 2 2 +5x-3=0 2¢-x-6=0 3 +8x-3=0

X=%3 (x-)(x+3)=0 (2x+3)(x-2)=0 Bx-x+3)=0
x=-3or % x=-32o0r2 x=-3o0r 3
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